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struct trie
int nex[100000][26], cnt;
bool exist[100000]; /UOOOOOOOOOOOOO

void insert(char *s, int 1 /00000
int p = 0;
int i = 0; 1 < 1; i++
int ¢ = s[i] - 'a';
'nex|[plic nex[plic] = ++cnt; /0000000000
p = nex|plicl;

existip! = 1;
bool find(char *s, int 1 /00000
int p = 0;
int 1 = 0; i < 1; i++
int ¢ = s[i] - 'a';
Inex|pllc 0;

p = nex[plicl;

exist(pl;

HEN

gooog

gobogoboo——>0o0o0oboooooo* oo boooo

[[https://www.luogu.com.cn/problem/P2580|0 0 0000 0OOOCO]U0O $n$ 00000000
O$sm$0000000000OO0" DOODOO” O O0b0Ooooooo” o oooooooo”
Oops$lle nlle 1074,1\lem\le 107"5$J0 000000000 $50$0 >00 >>000000 trie]d
Otied0000D0DO0OD00O0D0OO0DODOOO0DODODOODOODOOOOODO

0000 #include const int N = 500010; char s[60]; int n, m, ch[N][26],
tag[N], tot = 1; int main() { scanf("%d", &n); for (int i = 1; i <= n;
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++1) { scanf("%s", s + 1); int u = 1; for (int j = 1; s[j]; ++j) { int c
= s[j] - 'a'; if (!'ch[u]llc]) ch[ul[c] = ++tot; u = ch[ul[c]; } tag[u] =
1; } scanf("%d", &m); while (m--) { scanf("%s", s + 1); int u = 1; for
(int j = 1; s[j]; ++j) { int c = s[j] - 'a'; u = chlu][c]; if ('u)
break; // D0000OO00O0O0O0OO0O0O0OO } if (tag[u]l == 1) { tagl[u] = 2;
puts("0K"); } else if (tag[u] == 2) puts("REPEAT"); else puts("WRONG");
} return 0; }

</blockquote></HTML>
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[[https://www.luogu.com.cn/problem/P4551|BZ0j1954 0 0 0 O OO ]C000O0OOO0O0ODO
$(uv)$00 $us0O$v$ 0000000000000 0O0O0OO0UOOOOOOOODnD SN0 00
O $[02M31N$ 00 >00>>0000000 $root$0 $T(uv)$SD DO $us O $v$ 00O OOOMO
0000000 $T(u,v)=T(root,u)\oplus T(root,v)$JO O LCAODODOOOODOOODOOODO >>0
O000000 $T(root,u)$ 00000 trie00000000 $T(root,u)$ 000 0OD0OODODODOO
OO0 $T(root,V)$[]>>0 trie0 000000000 $T(root,u)$ 00000 DOOO0OODOOOOO
000000000 >>00000000000000000%1000000000O00000O
s 00000000 00oo0on
00000 #include #include const int N = 100010; int head[N], nxt[N
<=0; --1) { int ¢ = ((x > 1) & 1); if (!'ch[u]lc]) ch[ull[c] = ++tot;
u = chlullc]; } } void get(int x) { int res = 0; for (int i = 30, u =
1; i >=0; --i) { int c = ((x > i) & 1); if (ch[ul[c ~ 1]) { u =
chfullc ~ 1]; res |= (1 <

</blockquote></HTML>
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void maintain(int o

wlo! = xorvio| = 0;
chliol [0
wlo! += wlchlo][0]];
xorv|[o! 7= xorv|[chlol [0 << 1;
chlol[1
wlo! += wlchlo][1]];
xorv/o] 7= (xorvichlo][1]] << 1) | (wichlol[1]] & 1);

// wl[o] = w[o] & 1;
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namespace trie
const int MAXH = 21;
int ch| * (MAXH + 1)1[2], w/_* (MAXH + 1)], xorv| * (MAXH + 1)];
int tot = 0;
int mknode

++tot;

chitot][1] = ch[tot][0] = w[tot] = xorv[tot] = 0;

tot;

void maintain(int o
w/io! = xorv|o] = 0;
chl[o] [0
wlo] += wlchlo]l[0]];
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xorv/ ol ~= xorv/chlo << 1;
chlo
wi ol += wichlo ;
xorv|[o] ~= (xorv|chlo << wichlo & C
wiol =wlol & 1;

void insert(int &o, int x, int dp
o) o = mknode();
dp > MAXH void) (wlo]++);
insert(chlo]l[x & , X >> 1, dp + :
maintain(o);

void erase(int o, int x, int dp
dp > void) (w[o]--);
erasel(chio]x & , X >> 1, dp + ;
maintain(o);

// namespace trie

gooo
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0000000 tie0000000 $V_1,V.2,V 3\cdotsV n$00 00 000000000000
$V_1+1,V 241,V 3+1,\cdots,V_n+1$[]

void addall(int o
swap(chlo , chlo ;
chlo addall(ch|o ;
maintain(o) ;
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1000(10) + 1 = 1001(11) ;
10011(19) + 1 = 10100(20) ;
11111(31) + 1 = 100000(32);
10101(21) + 1 = 10110(22) ;
100000000111111(16447) + 1 = 100000001000000(16448) ;
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